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1. Explanations: 15% | -i‘
(a) Bulk modulus of elasticity ¥
(b) Slendemness ratio
(c) Creep
2. A beam of T section is supported and loaded as shown in the figure.
Determine the maximum tensile and compressive stresses in the beam. 25%
3. A simple beam of wide-flange cross section is supported and loaded as
shown in the figure. .
(=35, L=10ft,h=105in.,b=7 i'n.., and ¢, =1,=0.4 in.)
(a) Calculate the maximum shear stress on the cross section A-A located at
distance d = 2.5 ft from the end of the beam. ‘ 20%
(b) Calculate the shear stress at point B on the cross section. Point B is
located at a distance a = 2.0 in from the edge of the lower flange.
4. A compound beam ABCDE consists of two parts connected by a hinge at C. i
Determine the deflection at the free end E due to the load P acting at that point. 20%
5. A beam rests on simple supports at points A and B and is supported by a
cable at point C. Prior to the application of the uniform load, there is no
force in the cable nor is there any slack in the cable. Find the magnitude of 20%
the force in the cable when the uniform load is applied. | P
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